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Question Number : 1 Question Id : 3922669161 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding operation taken by India and

the country related to

1 Operation Ganga
i1, Operation Kaveri
iil.  Operation Ajay
1v.  Operation Dost

~ 0 oo

Sudan
Israel
Ukraine
Syria
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1. 1-a. 11-c. 11-d. 1v-b
2. i-c, 1i-a, ii-b, iv-d
3 1-b. 1i-a. 1iii-c. 1v-d
4. 1-b. 11-d. 111-c. 1v-a

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 2 Question Id : 3922669162 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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This is also called World Parliament

1. Common Wealth of Nations
2. UN Security Council
3. UNICEF

4, UN General Assembly
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Options :
1. % 1
2. %)
3. %3
4.9 4

Question Number : 3 Question Id : 3922669163 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding countries and it’s National games

1. Field Hockey a. Bangladesh
11. Kabaddi b. Pakisthan
111. Badminton C. Malesia
v.  Volley ball d. Srilanka
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11. 52.3{% b. i:"é%_zg
iii. 3505&&0&:5 e BN
iv. 0erS d. 8 0%
1. 1-a, 1i-b, 1i-c, 1v-d
2 1-b, m-a. 1i-c, 1v-d
3. i-b, 1-d, iii-a, iv-c
4, 1-c, 1i-a, 1ii-b, iv-d

Options :

1. %1

2.4

3. %3

4. % 4

Question Number : 4 Question Id : 3922669164 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

a. C. Rajagopalachari was the first recipient of the
Bharat Ratna

b. Ashok Chakra 1s the second Highest gallantry award

o Dadasaheb Phalke award carries swarna kalasam and

5 lakh cash prize

Vinobha Bhave was the first recipient of Ramon
Megasaysay award in 1958
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Options :
1. %1
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Question Number : 5 Question Id : 3922669165 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

1. Hocky a. Rovers cup
ii. Foot ball b. Federation cup
.  Polo i Aga Khan cup
iv.  Athletics d. Gold cup
VDS DVATEES0 Kook,
i 3568 a.  5%6) 5%
i 9SS b VETAS ED
iii.  2PS° C IR K5
iv. e38f d Ag x5
o
1 i-c, ii-b. iii-d. iv-a
2 1-c. 1ii-d. iii-a. iv-b
3 1-c. 1i-a. 1i-d. 1v-b
4. 1-b, ii-c. iii-d, iv-a
Options :
1% 1
2.% 2
3.¥3
4.% 4

Question Number : 6 Question Id : 3922669166 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This element of the Indian Constitution 1s borrowed from

USSR
1. Fundamental duties
2. Cabinet system of Ministers

Tad

Directive principles

4, Written Constitution
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Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 7 Question Id : 3922669167 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding authors and books

1. George Bernard Shaw a. The Room on the Roof
1. Charles Dickens b. Apple carte

iii.  Leo Tolstoy E War and Peace

iv.  Ruskin bond d. David copper field
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1. 1-a. 1i-b. 1i-d. 1v-c
2. i-c, ii-b, 1ii-d. iv-a
3. 1-b, 11-d, ii1-a, iv-c
4. 1-c. ii-a. 11-b. iv-d
Options :
1. % 1
2. %)
3.3
4. % 4

Question Number : 8 Question Id : 3922669168 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



World’s longest railway platform is in
1. Grant Central Terminal, New york

2. Garakhpur Junction railway station. Uttar Pradesh

(ad

Chennai. Tamil Nadu

4. Hubballi. Karnataka
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Options :

1. ¥ 1

2. %2

3. % 3

4.9 4

Question Number : 9 Question Id : 3922669169 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The company that is going to establish compressed biogas
plant in our state 1s

1 Bharat Petroleum

& Indian O1l Corporation

3. Reliance

4, Gas Authority of India
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1. % 1
2.% 2
3.¢3
4. % 4

Question Number : 10 Question Id : 3922669170 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In 2025 Republic day celebrations this tableau with dolls stood
as a special attraction

L. Kondapalli
2. Etikoppaka

Nirmal

Tad

4, Pendurthi
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Options :
1. % 1
2.¥2
3.% 3
4, % 4

Question Number : 11 Question Id : 3922669171 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The city totally destroyed in Gaza due to Israel attacks

i Jerusalem
2. Tel Aviv
3. Netanya

4, Jabaliya
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Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 12 Question Id : 3922669172 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This country President ordered Diversity, Equity and Inclusive
— DEI staff to go on leave.

1 Germany
2 Canada
3. America
4. Russia
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Options :

1. %1

2.%2

3.¥3

4.% 4

Question Number : 13 Question Id : 3922669173 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The tool developed by INCOIS — (Indian National Centre for
Ocean Information Services) — to help Indian coast guard.
Navy. coast guard police is

1. Bharat

2. Rakshak

3. Sarath

4. Wave
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Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 14 Question Id : 3922669174 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This plaver won Sir Garfield Sobers 2024 trophy

1. Rasheed

2. Hardik

3. Virat Kohli

4, Jasprit Bumrah
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Options :
1. %1
2. %2
3.%83
4.¥ 4

Question Number : 15 Question Id : 3922669175 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Government of Andhra Pradesh has decided to convert this
district as ‘Fruit bowl of India’

1. West Godavari
2. Srikakulam

fad

Ananthapuram

4, Chittoor
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Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 16 Question Id : 3922669176 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



As per the new rules formed by Nepal. Everest mountaineers
can’t go alone after this height.

1. 8000 m
2. 5000 m
3. 6500 m
4. 5600 m
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3. 6500 2
4. 5600

Options :
1.1
2. %2
3.% 3
4, % 4

Section 2
Section Id : 392266290
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions :
Number of Questions to be attempted :
Section Marks :
Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id : 392266295
Question Shuffling Allowed : Yes
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Question Number : 17 Question Id : 3922669177 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

1.  Hunter Commission

11. Mudaliar Commuttee

1. Sargent Commission

1v. Radha Krishnan Committee
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1 1-c. 11-b, mi-a, 1v-d
2 1-b. 1i-c. iii-d. 1v-a
3 1-c, 1i-d. iii-b, 1v-a
4. 1-b. 1i-a. iii-d. 1v-c

Options :

1. %1

2. %2

3.3

4, % 4

Question Number : 18 Question Id : 3922669178 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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University Commission
Post war Education Programme
First Indian Education Commission

Secondary Education Commission
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Choose correct answer regarding John Dewey principles.

a. Philosophy is the general theory of education
b. Philosophy 1s instrumental 1n theory of practice
C. Philosophy can never succeed if it 1s isolated from life.
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Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 19 Question Id : 3922669179 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This Record contains the details of Pupil’s Physical. mental.
emotional. social, moral and aesthetic items

l. Skill Register

2 Log Book
3. Anecdotal Record
4. Cumulative Record
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Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 20 Question Id : 3922669180 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Education is Tripolar. The third dimension 1s

L. Teacher

ol Student

3 Parent

4. Curriculum
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Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 21 Question Id : 3922669181 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



To provide respectable life to universal human is the
main aim of

1. Child Rights Convention

2. World Food Organization

Tl

Universal Declaration of Human Rights

4 SDG - 17
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Question Number : 22 Question Id : 3922669182 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
At Primary Level Teacher Pupil ratio as per RTE - 2009 Act1s

RTE- 2009 ($5°80 (P& Fod® &rerged - o750

]
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3 | ol
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Options :

1. % 1

2. %2
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Question Number : 23 Question Id : 3922669183 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The chairperson of NEP - 2020 Committee
| Dr. K. Kasturit Rangan
Z Prof. Yashpal

Dr. Rangarajan

4. Shri. S. Krishnan

NEP - 2020 5208 3838

Tad

1. & S. 50720 S0KR
2. D HEFS
3. & SoKorms
4. & I 5@
Options :
1.¥1
2.%2
3.%3
4. % 4

Question Number : 24 Question Id : 3922669184 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This 1s NOT an Idealistic teaching method

i Discussion method
2. Lecture method

Memorization method

r

o

Child centered method
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Options :
1. % 1
2. % 2
3.% 3
4.9 4
Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Question Number : 25 Question Id : 3922669185 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Section 3
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Mandatory
16

16
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0

1
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Yes



Choosing a friend and maintenance of friendship are the
indicators of

1. Physical development

2, Mental development

T3

Emotional development
4, Social development
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Options :

1. %1

2. %)

3. % 3

4.9 4

Question Number : 26 Question Id : 3922669186 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Teaching process should be given more importance than the
content,”- stated by

1. Bruner

2 Thomndike

3. Freeman

4. Freud
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Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 27 Question Id : 3922669187 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Children can learn language not by imitation but by the
Universal Language Faculty and the Language Acquisition
Device in their mind™ - stated by

i. Vygotsky
2. Albert Bandura
- X Noam Chomsky

4. Jershield
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Options :
1. % 1
2. % 2
3.¢3
4. % 4

Question Number : 28 Question Id : 3922669188 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding Thematic Apperception Test

a. Developed by Murre, Morgan

b. Total number of cards - 31
C. Use for children and youth
d. Person can complete incomplete sentences
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Options :
1. % ]
2.% 2
3. % 3
4.9 4

Question Number : 29 Question Id : 3922669189 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Koh’s Block Design test is one of the sub test among the five
subtest of

1. Army Beta Test
2. Raven’s Standard Progressive Matrices

)

Bhatia’s Intelligence Test Battery
4. Stanford — Binet Intelligence Scale
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Options :
1. %1
2. % )
3.9 3
4. % 4

Question Number : 30 Question Id : 3922669190 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify correct statement regarding Normal probability curve

a. The Skewness is equal to 263

b. This 1s equal to 6 standard deviations
E This 1s also called Gaussian curve

d. This 1s symmetric in shape
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Options :

1. %1

2. % )

3.% 3

4.9 4

Question Number : 31 Question Id : 3922669191 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to the Piaget, the stage where a child transforms
from reactive organism to reflexive organism is

1. Sensory motor stage
2. Pre operational stage

Concrete operational stage

T4l

4. Formal operational stage
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Options :

1.¥1

2. %2

3.%3

4. % 4

Question Number : 32 Question Id : 3922669192 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Author of the book ‘Man’s Search for Meaning” is
1. Vygotsky

2. Jimmar

Victor Frankil

4. Hill Guard
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Options :
1. %1
2.% 2
3.¢3
4. % 4

Question Number : 33 Question Id : 3922669193 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT a character of Positive Learning

Environment
i Using running black board
2. Calling children by names

)

Conducting cultural activities
4. Usage of learning material only by a teacher
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1. ¥ 1
2. %2
3.%3
4.9 4

Question Number : 34 Question Id : 3922669194 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy, who 1s afraid of Mathematics, likes Mathematics after
new teacher’s arrival. Here, the changed factor 1s

l. Creativity
2 Aptitude

3 Intelligence
4. Attitude

He350 @08 PIot a8 ITERS 58 &rgryahod SD)TH)ES
o0& Ke3S0 By HO DOR0D. HIS” JrEH) KPS ©0¥0
1. ?C:Jzame‘_ééﬁelé
2. QDeTees @‘;:13550
Q'J

3.

s

&2
=

4.

fed
=)
o2

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 35 Question Id : 3922669195 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A student absconds from the classroom frequently and does
not show interest in daily routine activities. The student may
have the following.

1. Oral language disability

2. Reading disability

3. Attention Deficit Hyper active Disorder (ADHD)

4. Turner’s syndrome
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Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 36 Question Id : 3922669196 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer

1. Umifactor theory a. Spearman
ii. Two factor theory b. Thomdike
iii. Multi factor theory c. Binet
iv. Group factor theory d. Thurston
QB DIEEN0 Kook,
i 8 5 degoso a. )&
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1 1-a. 11-b. 1i-c. 1v-d
2. 1-c. 11-a. 1i-d, 1v-b
3. 1-b, ii-a. 1ii-d, 1v-c
4. 1-c. 1i-a. 1i-b. iv-d

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 37 Question Id : 3922669197 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Learning a sentence from situations, words from sentences and
letters from words 1s the application of this learning theory.

¥ Classical conditioning

2. Operant conditioning

3, Insightful learning

4. Learning through imitation

‘é}ﬁbﬁ%‘o 5008 TEQ, TR 5008 DEO, HEO ok eX¥o
SEESEO @[ B @§HS DETOBO D), WPFETO
1L Qo0 deoss

.40 5”553“555 208N

3. &90@5&&%} @eﬁgéﬁo

4. (IS latetar 536 &92;55?6?{50

Options :
1. %1
2. %2
3.3
4, % 4

Question Number : 38 Question Id : 3922669198 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Thought provoking questions asked by the teacher in the
beginning of teaching a lesson is related to this leaming factor

1. Maturity

2. Attitude
3. Need
4. Motivation

Togo¥ S'ETH SN0 SIS S SIS (DFed
OENED BIO B3 ORI |TADOED Ho2000DH0

L 509K
3

2. 38
3 895080
4 1:5::653

Options :

1. %1

2. %2

3.%3

4.¥ 4

Question Number : 39 Question Id : 3922669199 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Reason for progression in positively accelerated learning
Curve is

1. Increase in number of trails

2. Increase in time

3. Increase in number of correct responses

4. Performance 1s directly proportional to number of trails

8 @gos i YRS OIS’ sote S0

i @acﬁ:@g@ Knoa:ﬁ DBREO

2. 008" DHIHE
3 &‘;CDJE} ﬁoa:g Foleilele]
4. (PShEre Hopg AXET WS D 5020450
¥R &okio
Options :
1. %1
2. %)
3% 3

4.9 4



Question Number : 40 Question Id : 3922669200 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A boy learnt an essay. According to Ebbinghaus. the
percentage of information he forgets after 31 days.

2% 3):5“52 :Pééo ?a‘tiagﬁ:agm ;}illzjoﬁ o 3] ®s¥o 31 SPaen
oS SEK S0P DA @50

2 66%
2. 75%
3 80%
+ 95%

Options :

1. % 1

2. %2

3.3

4, % 4

Section 4
Section Id : 392266292
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266297
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3922669201 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



SPomw éabma)mai 0220800 KT FS7jeo
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“Socofies’ Do POETHS0

%3 D% o ISy ©SED PYEFY Y0 Forrid.
1. @, e3, 3

2, e, &3, B2

3. e, g, 532

4, o, 3, 83

Options :
1. %1
2. %2
3.%3
4.9¥ 4

Question Number : 42 Question Id : 3922669202 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

g e JPS (Ebo MBoKod.

o,  Eden mEd awghen B D&
& i~
e A DIBLeK A0 STrsiesEn

3 SHIHOBEIDO Y Noddeic Mot
L. oA [Benish Ty Sooord Do
: 53, ©, 3, &
2. 3, &3, ©, =
3. 3 &, &3, B3
4. 3, &, 83, ©

Options :
1. %1
2.¥2



3.%3
4. % 4

Question Number : 43 Question Id : 3922669203 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“e3 Kpassnd Haaraveindd %‘T@zx&of} VDK 0N
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Options :

1% ]

2. % )

3.¢3

4. % 4

Question Number : 44 Question Id : 3922669204 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘TRR00¢0, SrA550, AT @955

1. @Bﬁ‘ﬁnm
2 k&é@ﬁg@ﬁmw
3. E¥gen
4. &5@3&@@3
Options :
1. % 1
2. % 2
3.¥3
4, % 4

Question Number : 45 Question Id : 3922669205 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



208 FAS° Raho’ (PH3cHs TodS roren
1. 38 Dok, 5o oK
2. =0T 23006, &so@?&eﬁ;jo
e ; s — o ae Doy
3. m:hgéi oS o0&, ‘oe:agmmw:;
4. o8 D0, S &e0 D

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 46 Question Id : 3922669206 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“;6::55' NS edo.
2 [+]

1. wé)
(=]
Z. Dol
]
3.  Do&d
4. RN
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 47 Question Id : 3922669207 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



PEB” &3 Do

1. ‘e8’ Reso
Z: 0’ R’
3 ‘2’ Keso
4. ‘B’ heao

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 48 Question Id : 3922669208 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
e‘_ée‘_éaojtbzﬁ. NaSrrds Ho0fod) HBO5EIH
i SOLESen - iﬁeﬁog BV BITHO
2. oSG0 - IF SEOHR D30
3. Socrw) - KBr SEHR 9500
4. ormnrddss - Bosd YR BITHO

Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 49 Question Id : 3922669209 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. (Easdares &955&5 EaiNe
2. (BSri0ire HEG)E T°E(o
3. Ecsrsare ‘5356&5 a‘ﬁso

4. L_%cﬂrdi?e‘_ﬁ &955&5 ;“T-_fgo

Options :
1.v1
2. %2
3.%3
4, % 4

Question Number : 50 Question Id : 3922669210 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘S8 HoER BoS® “Bi3 S &0 X! Hodoenid
RPOTOH0 Renardd”’ &9@&.

3. e3:508
2 -a”;ﬁarﬂgg
3 ¥B50er
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Options :

1. %1

2. %)

3.9 3

4, % 4

Question Number : 51 Question Id : 3922669211 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



$omyR) BF0wSE0 50 (Ferom BE) Db W
180D BICHEDES B3 FEO &BEO.

1: ;:;:ne:afn)enrm;

. FoenSe0d)
3. ARLIIN o] (ALEY) @@g
4. 00580

Options :

1. %]

2.% )

3.¢3

4. % 4

Question Number : 52 Question Id : 3922669212 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

HOR™00" Do BBS HEJLeS

1. RONK + TH00
2 HOM® + E.500
3. HONT + 00
4. Kom + Dvoo

Options :

1. % 1

2.¢2

3. %3

4, % 4

Question Number : 53 Question Id : 3922669213 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



308 788" VTS Y5E IYPITETAS ToBS.

1. ﬁcﬁ;é‘@@?’*ﬁg @ﬂoe‘é;ﬁ:ﬂe:.efgj oeEHED

2. 0 S8 3N (PO aTreven TrahEo
3. ?.3:::*523.% Q’:@ﬁm‘go o°a0E0
4. XE0 S0 Dogrhe 8ErNos® orasaEo
Options :
1. % 1
2. % 2
3. %3
4. % 4

Question Number : 54 Question Id : 3922669214 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
08, T 0 T FTTM Ko DO
L T
Smgo

2.
3. INGLIh)
4.

mﬁ;’ao
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 55 Question Id : 3922669215 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



T - 38O Howolod HOTIA.

1. D8 - BTIT GYE)PO0
2.  HaHSo - EhAPe (@
3. {'.}659;3.:1@5?50 - ‘c‘é;.i?a’e‘_écso
4. SouTm - B553AGE

Options :

1.¥1

2. %2

3.%3

4, % 4

Question Number : 56 Question Id : 3922669216 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

e L‘-’iﬁe‘_&mﬂoiﬂﬁéo’ 90

1. TR0

2. DS

3. 230

4, D0

=

Options :
1. % 1
2. %2
3.9%°3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266298
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 3922669217 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



2 of ¥
3. é%%é&i‘“cgo H8S 1S
4. 08 e 5208
Options :
1. %1
2.9
3. % 3
4. % 4

Question Number : 58 Question Id : 3922669218 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SCJCJ‘&% 0B, 08D (DIED

1. @2,?5‘:@0 + ;‘mvasoﬁaﬁo
2, (PHES + ety + rerfosSo
3. SOPSES + (PIYIS” )
4, &92,?55‘&33 + (D585

Options :

1. % 1

2. %)

3.¢3

4. % 4

Question Number : 59 Question Id : 3922669219 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 60 Question Id : 3922669220 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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©. &oh zoh S, aﬂfo?ob
wt o n & 2 e 4

=3 mﬂséu&i@a &. SO Rt
3 RO ES . 53**5“}2533%5
i e 5 D.3. S
1 ©-23, e3-dD, 3-9, 53-8

2 -0, -3, 3-8, B3-dd

3 ©-0, e3-aD, §-», 53-8

4 ©-o, es-db, 3-8, Sa-2

Options :

1. %]

2. %)

3.¢3

4. % 4

Question Number : 61 Question Id : 3922669221 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
VBT RE &IV §°R) KHBOE0E.

1. 208 d - HONA

2. DIADE - gI~dDE
3. g 8es0 - 23°8es0
4, TN - odFHDH

Options :

1.¥ 1

2. %)

3% 3

4. % 4

Question Number : 62 Question Id : 3922669222 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
L il I Ty D T e
DRAD|PET DY S5 S® u&«é.}é's &EOE SO woFen
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A0 S8 Fos
Bs.  ©0&Herend” &) SSthen
L e, 3, 53

2. &3, 3, &2

3. e, &3, 3

4. e, e3, 83
Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 63 Question Id : 3922669223 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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L SES0sSe Figgeros Sogo (BCRT)
2. (Prodadh S§eSt5ses Solgo (RIET)
3.  J0oR))\BE S5the 3%es oo (CCRT)
4. oy g S DS 85 Solgo (ESRT)

Options :
1. %1

2. %2
3.¢3
4. % 4

Question Number : 64 Question Id : 3922669224 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
DS 0:58508°, ecir FHTS” dyeo o
SIS Dors’, NodsSEKs ?5&31}*-:-2::;535‘5 IIHA.
L @255‘53350 Sk, oY
2; @Eﬁg‘é:ﬁo So¥), (dg
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4. oGBS SHUS

Options :

1.¥1

2. %2

3.% 3

4. % 4

Section 5

Section Id : 392266293
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24

Number of Questions to be attempted : 24



Section Marks : 12

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266299
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 3922669225 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

He speaks Spanish fluently.

Choose the question form of the sentence given above.

1. He speaks Spanish fluently?

2, Does he speak Spanish fluently?

3. Do he speaks Spanish fluently?

4. Is he speaks Spanish fluently?

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 66 Question Id : 3922669226 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

They have visited Delhi before.

Choose the negative form of the sentence given above.

L They have not visited Delhi before.

)

They do not visited Delhi before.

T

They did not visited Delhi before.
4. They not have visited Delhi before.

Options :
1.v 1
2. %2
3.%3
4. % 4



Question Number : 67 Question Id : 3922669227 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the adjective of quantity from the following.

i elementary

2 Primary

industrial

sl

4. much

Options :
1. % 1
2. %2
3.% 3
4, % 4

Question Number : 68 Question Id : 3922669228 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the noun form of the word “Vain’.

l. Vaintion
2. Vainity
3. Vanity

4. Vainful

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 69 Question Id : 3922669229 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



They on strike since November.
Choose the option that fits the blank.
1. had being

-2

have been being

42

were being
4, have been

Options :
1. % 1

2. %2
3.% 3
4.9 4

Question Number : 70 Question Id : 3922669230 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mother (rest) now. She always rests after lunch.
Choose the option that fits the blank.

1. has rested

2, 1s resting

would rest

b

4, 15 rested
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 71 Question Id : 3922669231 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



She is adapted changing times.
Choose the preposition that fits the blank.
1. by

2. at

3. to

4. m

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 72 Question Id : 3922669232 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He is a good house.
Choose the option that fits the blank
L, in search for

2. on search of

3. on search for

4. in search of

Options :
1. %1
2. %2
3.%3
4. 4

Question Number : 73 Question Id : 3922669233 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Select the word containing a silent ‘C’

1. Carrot
3 Civic
3. Muscle
4. Circus

Options :

1. %1

2. %)

3.¢3

4, % 4

Question Number : 74 Question Id : 3922669234 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct list of words in alphabetical order:
i box. bitch. both, block
2 bitch, block, both. box
bitch. both, block. box
4. box. both. block. bitch

LN ]

Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 75 Question Id : 3922669235 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A: Do you know the time?

B: Yes, clockin  hall has just struck nine.
Choose the option that fits blanks in the sentence above.
1. the, the

2. the. a

3. a, a

4. a. an

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 76 Question Id : 3922669236 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Padma is taller one of the two sisters.

Choose the article that fits the blank.

1. a
2 the
3. an
4. No article 1s needed
Options :
1. %1
2.¢2
3. % 3
4. % 4

Question Number : 77 Question Id : 3922669237 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The essay “Of Studies™ was written by:
1. Immanuel Kant

2 Francis Bacon

fad

Soren Kierkegaard
4. Fridrich Nietzsche.

Options :
1. %1
2.2
3.%3
4, % 4

Question Number : 78 Question Id : 3922669238 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The well known Indian short story writer who authored “The
Fight™ 1s:
1 Roald Dahl
2, Anton Chekhov
3. Ruskin Bond

4. Somerset Maugham
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 79 Question Id : 3922669239 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the key elements of a precis is :

I: Providing personal opinions.

b2

Including additional information not present in the
original text.

f4d

Using complex vocabulary to impress readers.

4. Maintaining the original author’s tone and style

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 80 Question Id : 3922669240 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify an important theme commonly found in auto -

biographies
1. fantasy
2! resilience

Tl

unrealistic expectations

4. lack of personal growth

Options :

1. %1

2.¥2

3.%83

4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266300
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3922669241 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the incorrect role of a curriculum of educators.
1. Guiding teachers in mstructional methods.

2. Reducing the need for systematic teaching approaches

ad

Setting expectations and benchmarks for learning.

4. Facilitating student access to rigorous academic
experiences
Options :
1% |
2.92
3.%3
4.% 4

Question Number : 82 Question Id : 3922669242 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the main factor that contributes to the diversity of
English dialects:

1. Strict grammar rules are enforced by linguistic
authorities
2 Isolation of English-speaking Communities

Tad

Limited cultural interactions among English Speakers.

4, Historical, regional. and social influences on language
use.
Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 83 Question Id : 3922669243 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following is NOT an objective of the skill of

reinforcing:

1. Encourage pupils towards positive behaviour

2 Discourage pupils from participating in classroom
discussion

L |

Discourage pupils from negative behaviour.
4, Attract and retain attention of the class.

Options :

1. %1

2.¥2

3.%3

4.% 4

Question Number : 84 Question Id : 3922669244 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct term for the grammatical arrangement of
words in sentences to convey meaning:

1. Syntax
2 Vocabulary
3 Expression
4. Grammar
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 85 Question Id : 3922669245 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following is an important sub-skill of reading
L Fluency and spontaneity

2. Recalling words quickly

fad

Using appropriate words and structures
4, Skimming and Scanning

Options :

1% 1

2.%2

3.%3
4.9 4

Question Number : 86 Question Id : 3922669246 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the type of error that involves extending language
rules to areas where they do not apply:

1. Carelessness errors

2. Performance errors

L)

Overgeneralisation of errors

4, Translation errors
Options :
1. %1
2.% 2
3.43
4. % 4

Question Number : 87 Question Id : 3922669247 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Select the appropriate term for aids used in the classroom to
enhance teaching effectiveness:

0. Supplementary tools

2 Learning enhancers

(ad

Classroom gadgets

4. Teaching - learning materials

Options :
1. %1
2. %2
3.%3
4.v 4

Question Number : 88 Question Id : 3922669248 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT the primary function of the post-active phase of

teaching
1. Analysing learner performance
2. Providing feedback

(2

Reflecting on learning experiences

4, Identifying objectives

Options :

1. %1

2. %2

3.%3

4.9¥ 4

Section 6

Section Id : 392266294
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 392266301
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 3922669249 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The difference between the largest and the smallest ‘4 digit
numbers using the numerals 4. 1. 7. 6 without repetition gives

©0SOM PIT°S)B0 Dah®oz 4, 1, 7, 6 &3 e0Sed’ Ddﬂ}é

4’ 0030 ©d DY, ©d AY) vopge S 23850

1 6471
2. 4716
3 6174
4. 4167

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 90 Question Id : 3922669250 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
HCF 0f49.91. 112 1s
49,91, 112 © K.Jr.2

& |
2. 3
3 7
4. |52

Options :

1. %1

2. %2

3.3



4. % 4

Question Number : 91 Question Id : 3922669251 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If 6 pipes with same radius are required to fill a tank in 1 hour
20 minutes, then the time required for 5 pipes of the same type
to fill the tank 1s

1. 1 hour 36 minutes
2, 1 hour 44 minutes

1 hour 54 minutes

fad

4. 1 hour 48 minutes

¥ 6505 OPL a8 TR0 o 6 PHoH 1 Ko 20
Qe BCHO IEB o8 FEDI 5 PYODH & 70N
DOPO HE Bidabo

1. 1 #xon 36

2. 1 Kon 44 Ou
3 1 Kon 54 On
4, 1 #son 48 On

Options :

1.¥ 1

2. % 2

3.% 3

4. % 4

Question Number : 92 Question Id : 3922669252 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If 28% of 50 + 42% of 20 + 39% of 40 = x% of 200 then the
value of “x’ is

508° 28% + 20 S° 42% +40 S° 39 % =200S° x % oS

g 4TS 5 T
1 10.9
2 19
3 38
4. 109

Options :

1. % 1

2.¥ 2

3.% 3

4. % 4

Question Number : 93 Question Id : 3922669253 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In ABCD rhombus. AB =5 c¢cm and Z4=60° then diagonal
BD = (in cm)

ABCD ‘:6;3:}159:&35%)23095'5, AB = 5 o.2n. 58a30 Z4=60°
2005 Egafm BD = (20.2.08°)

1. 33

2. 63

3.

4. i

LA

Lh

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 94 Question Id : 3922669254 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

In APOR . if ZR=/ZP+ /Z0.PQ=25cmand PR =24 cm
then PR — QR = (in cm)

APOR & ZR=/P+£0.PQ =25 0.5. 85
PR =24 20.%. @00 PR— QR =(®0.2n.08°)

L 7
2. 13
. 16
4. 17

Options :

1. % 1

2. %2

3.%3

4.¥ 4

Question Number : 95 Question Id : 3922669255 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the complementary angle of an angle 1s equal to 25% of its
supplementary angle. then the angle is

2% 5°50 Sk Y8 500 ol $orsy 55508 25%5%

i

B0 wons &3 50

(I A
2. 60°
3. 45°
4. 30°

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 96 Question Id : 3922669256 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes



Correct Marks : 0.5 Wrong Marks : 0

If the sum of interior angles of a polygon 1s 1260° then it is a

1. Octagon

2.8 Nonagon

3. Decagon

4. Hendecagon

2% eained @0asSere 20080 1260° eond e aTvghe
1, H?.Eg,zﬁjzé

. oo

5 SR

4, Nlat Tabts

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 97 Question Id : 3922669257 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

81(.1'4 -5+ 63-3)

27x(x=3)
i; x(x=2)
5 x(x=3)
' 3
3. 3x(x=2)
4. 3x(x—4)
Options :
1. %1
2. %2
3.¥3

4. % 4



Question Number : 98 Question Id : 3922669258 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

pAg S "
The value of % 1S
R e
12*x9° x4
ST 4 e AT
1. 162
2. 108
3. 81
4. 54
Options :
1.v 1
2.% )
3. %3
4. % 4

Question Number : 99 Question Id : 3922669259 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The value of the expression a* +5° —ab® +a’s Wwhen

a=3andb=21s

a=3008dn b=2 ©O0TIPE, a’+b* —ab’ +a’b

o_jxﬁb D0

1 43
2. 26
3 24
4. 19

Options :

1. % 1

2. %2

3.%3

4.4 4



Question Number : 100 Question Id : 3922669260 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The rule that gives the number of matchsticks required to
make a pattern of letter Z (=) is (here “n’ is a variable)

Z e500 (D) 2505 Errofoderdd eSddilos @ﬁ‘@@ﬂ

[ar]
‘éoa:gai:: BOALT D NADLESIE0 (qﬁb_c‘i ‘n’ 2% S8o°Y)

1. 2n
2 3n
3 51 al
4. 3(n+1)
Options :
1. % 1
2.¥2
3. %3
4. % 4

Question Number : 101 Question Id : 3922669261 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In a histogram. the height of the rectangular bars represents

1. Width of the class

2. Upper limit of the class

Lower limit of the class

fd

4. Frequency of the class
PI3S TP DB0T0L0, DY SV S0 FEJed
e lointiva)

1. SOHE Jeoe)
SBEND oD @50
SBORE QLS @50

oW

SEHRB %ﬁaﬁaaﬁéo

Options :



1. ¥ 1
2. %2
3.%3
4.9 4

Question Number : 102 Question Id : 3922669262 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is CORRECT

1. 1 km = 100000 cm

2. 1 tone = 100 kg

[

= | :
1 milligram = ——— grams
10000

4. 180 nunutes = 2— hours

I\..i||—l

208 FS° ¥BSO
i 1 3.2. =100000 20.2».

2. 15y =100 3. (v

3. 1%y =—
10000

4. 180 Adoren = 2— Kodrew

b | =

Options :
1. % 1
2. %2
3.%3
4. % 4

Question Number : 103 Question Id : 3922669263 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The length and breadth of a rectangle are 6 cm and 2.5 cm
respectively. Then the sum of the diagonals 1s (in cm)

2.8 B S8R0 Bwk), PEY, SEeoyed SWH 6 0.2,
2.5 20.%. ®ans o Loy 050 (0.2n.e8°%

1. 10

2. W

3. 12

4. 13

Options :
1. %1
2. %2
3.%3
4. ¥ 4

Question Number : 104 Question Id : 3922669264 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Water is pouring into a cuboidal reservoir at the rate of
30 liters per minute. If the volume of the reservoir is 216 m’.
then the number of hours it takes to fill the reservoir 1s

2., ¥ égmmmm 2eTYE00S DS W2 30 émg Rt
SE¢5:00. =eP¥E50 BoSH05re0 216 H0.50. @S

2ePFS00 oD ?.’5% 00 KoLHOS

1. 60
2. 90
3. 120
+ 150

Options :

1. %1

2. %2

3.3

4. % 4



Sub-Section Number : 2
Sub-Section Id : 392266302
Question Shuffling Allowed : Yes

Question Number : 105 Question Id : 3922669265 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to this ‘ism’ mathematics 1s a structured process

L. Intuitionism

:. Traditionalism

3. Logicalism

4, Psychologicalism

53 (208 S° D TR ©H00D Ke3eso
2.5 K}D'“és'a'“iééi‘i = 2a

1. woéd:g&aﬂcb’o
L |
2. &o@’amd&:&ﬁo
3. @535&&50
4. SR AE TS0
B F
Options :
1.¥1
2. %)
3. %3
4. % 4

Question Number : 106 Question Id : 3922669266 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Where there 1s a rhythm, there 1s a number™. 1s said by

1. Arvabhatta
2. Srinivasa Ramanujan
3. Euclid

4. Pythagoras
“S ©dh ¥od® et ogg Eo” o IR

1. &5552.'5%
2. B0 orsrihme
3. o3&
L)
4.  PTHER
Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 107 Question Id : 3922669267 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The specification ‘detects and corrects errors’ comes under

this objective

i Knowledge
2. Understanding
3 Application
4. Skall
GTRSNO™M 180D, VIV IO B3 oFgde TodI
OREEL
1. P00
=y
2. [SINT L
3. HEISS LIV
4. Q‘@msa:o

Options :



1. # 1
2.2
3.% 3
4. % 4

Question Number : 108 Question Id : 3922669268 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The name given to the number system by the Greeks

1. Arithmetica
2. Logistica
5 Novem

4. Quinque
(Ao B0 T3 LS Fles

1 eS0edse
&
2 Sk cFeles
[
3. 350
4. %5:5_553
Options :
1.v1
2. %)
3. %3
4. % 4

Question Number : 109 Question Id : 3922669269 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Limitation of Analytical method

| Lengthy procedure
2. Develops Heuristic attitude

LS ]

Logical method
4. Develops laboratory method
JFAe HFBE'D 2.5 0N

o)
L 053058
rmu_
2. SNRETSE)TR) DoFoBH08
3. SO K55S
&

4. BErHFer EAJ DOFoBR00
Options :
1L.Y1
2. %2
3. %3
4. % 4

Question Number : 110 Question Id : 3922669270 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Maximum number of beads that can be placed in each bar in
the bead frame

T B0’ (H85ES" Schiie KBQ YHe Doy
1
2

10
5
3. 9
4. 8
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 111 Question Id : 3922669271 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
The following are the principles of curriculum construction
a. Child centeredness
b. Utilitarian value
C. Spiral Approach
d. Disciplinary value
3 (300 FAS° EB&@@S f'JG"éta Qe (Gren
a.  3wsoBoses

b. ‘éﬁrﬁﬁ“e‘ééﬁ e

—

c. “:»3503@ o 1adda00

d (5585 deos
[l |

ab ¢
. a.b.d
2 3. ¢ d
4. b.e d

Options :

1. %1

2.¥2

3. %3

4. % 4

Question Number : 112 Question Id : 3922669272 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Assessment that is conducted during teaching is

i Formative Assessment
2. Summative Assessment
3. Diagnostic Assessment

4. Prognostic Assessment

S°ES e85005 (D3 RSN Bk HB0Y
i EorRes 080Y

.2 éo@i‘ﬁﬁwﬁéﬁ 00D

3. 65::15}@693 500

4. | iHAY 5809

Options :

1.¥1

2. %)

3.% 3

4. % 4

Section 7

Section Id : 392266295
Section Number : 7

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266303
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 3922669273 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the Greenhouse gases

1, Methane

ii. Water vapour

ii.  Nitrous Oxide

iv.  Sulphur tr1 oxide

AR ST Sopess HYoSos.
L B

ii. A 98

iii. Pl )6

iv. %05 8«56

L. L1, 1v
2. 11, 111, 1v
3 1, 1il, iv
4, L 1, 11

Options :

1. % 1

2. %2

3.%3

4. ¥ 4

Question Number : 114 Question Id : 3922669274 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Anaerobic Respiration can occur in
1. Yeast

1. Muscles

iii.  Bacteria

iv.  Amoeba

ST A0 TV IBS” BBNI).

i Hah
[ ]
1. ¥odoren
iii. 28d5e
(=]

iv. ez

1. 1. 11, 111

2 11 111. 1V

3 1. 11, 1V
4. 1. 11

Options :

1.¥1

2. %2

3. %3
4. % 4

Question Number : 115 Question Id : 3922669275 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Digestion of carbohydrates and proteins start in these parts

respectively
1. Mouth and Stomach
2 Stomach and Mouth

Both are in mouth

sl

4. Both are in stomach

-

206 o::CF"G“ﬂJ 0ckn (e c”: o] k_ o KD/ Bz s’
@ﬂdoe;ﬂc.ﬁ“p:’wo&.

7 S bk AgFcso
2.  ST¥cH0 HoBabe S
3. Bokr SFOSS

4. Do eﬁcg;%’otboeﬁ'sﬁ

Options :
1.v 1
2. %2
3.%3
4. % 4

Question Number : 116 Question Id : 3922669276 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find the correct statement
1. Xylem transports food material.

4 Phloem transports water and minerals.

)

The root hair cells absorb food from soil.

e

The xylem and phloem together form a vascular tissue.

0PN 5 H2gowodk.

3 TP oY TP DA
3 FFRYE Xe32m00 A 500N oSeres STrer B
3. SOETED PO 5008 HXFETR}& P00
4, TPt o0 FAY Eovwreren 50D (DS Seazrery)
btﬁg}tﬁiﬂa&"u
Options :
1. ¥ 1
2. % 2
3.% 3
4. 4

Question Number : 117 Question Id : 3922669277 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The hormone responsible for increase in heartbeat. rise n

blood sugar, dialation of coronary artery and pupil of the eye
1s

k. Thyroxine
2. Adrenalin

Testosterone

Tad

i

Insulin
TYSAV)0ES 0k BKoS® $TYY Fow DS, K56
333509 0030 KodIH J°§fs'5ﬁ’io, SR Tdtaéﬁao'ﬁ::; ::555&5

1. :@_Uﬂin}g
2. @S0
3. 5%%@0*5
4. 3500

Options :

1. %1

2.¥2

3.% 3

4. % 4

Question Number : 118 Question Id : 3922669278 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the Bacterial disease

1. Polio
2. Malaria
3. Typhoid

4, Hepatitis - A
S00ir $g SOR TR KR0S08.
1. DFOT
2. 580y
3. Byronk
4. THBET - A

Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 119 Question Id : 3922669279 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Acid 1n Ants 1s
k. Oxalic acid
2 Chloric acid

Lactic acid

T

4, Formic acid
Hes® sod e300

1. esmdE esino
o2 [

12

5585 esso0
) £

(b

3§ e300
s g |

, = N

4. 3‘5&4 &30

Options :



1. ¥ 1
2. %2
3.%3
4.9 4

Question Number : 120 Question Id : 3922669280 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following i1s NOT an adaptation of a desert plant
1. Leaves are modified into spines.

2 Stem 1s covered with thick wax.

4

The roots are located in upper layers of soil and
performs transpiration.

4. The stem 1s green and performs photosynthesis.

B3 200 98° 0 K, ebireso S0

i S|gren &J%ﬂj;&@ Erarodsio DOLHEPow.

2. S0E0 5¥H0 DIY FBSE” K3l &otwod.
- - - - . == A
3. uaig% DR 208" &0s wifj@n}ﬁo 2.
4. SP0E0 @Ea?éﬁijﬁﬂ &o& ﬂémaﬁg‘éoﬁrﬁ B
2380 08.
Options :
1. %]
2. %)
3.¢3
4. % 4

Question Number : 121 Question Id : 3922669281 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This cell organelle involves in membrane Biogenesis
1. Endoplasmic Reticulum

2. Nucleus

(a2

Lysosomes
4. Vacuoles
&S TSRS FEI SeroKo

1; @Oe:égéé @Séﬁgﬁ“a}o

2. Sol&ko
3. Q@ﬁéﬁgﬂa
4.  O3%en
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 122 Question Id : 3922669282 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One nano second 1s equals to

1. 107 second

2. 10° second

3. 10~ second

4. 107 second

2.8 TSTHED HIE BeSo
i 10 ES

2 10 ES

3. 107 25

4. 10" x5

Options :



1. ¥ 1
2. %2
3.¥3
4, % 4

Question Number : 123 Question Id : 3922669283 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The greenish blue spot formed around positive terminal when
an electric current passes through potato 1s because of

1. Heating effect of electric current
2. Chemuical effect of electric current

Magnetic effect of electric current

fad

4. Electromagnetic effect of electric current
DOMPFE0D 1HOG DS (PITOIBBTYE G55 o 5
DO esBDF) Dif) WYEEVE Ko S0

1. 3)63355 By, &3 30

2. ﬁd}geg Book), EPALT HOS0
3. mm;g Book), &S0 HIeS0
4. DgE S0k, IHEEI) 08 HOS0
Options :
1. ¥ 1
2.9 2
3. %3
4. % 4

Question Number : 124 Question Id : 3922669284 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If you keep vour hand on the side of the flame of a burning
candle, transfer of heat from candle to hand takes place by

1. Conduction

5 Convection

3. Radiation

4, Convection and radiation

D D TBY ¥ IerbEy) (SB[ rios” &ody,
£ING Do& B2 &3 (P80 B Sy HIHS&0D

1. é‘é% YL e)
2 &‘g% DOXIS0
3 &R D380
4 é‘g% NOIITH0 208830 é% D380
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 125 Question Id : 3922669285 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The purest form of carbon 1s

1. Coal tar
2 Coal gas
3 Coal
4. Coke
SRS B DS &0
I LS Prtet
2 S S ardsng)
- -
3. m&:eﬁ“h{;\
4 ERE
Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 126 Question Id : 3922669286 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Large number of asteroids are present between these two
planets

1. Earth, Venus

2. Earth. Mars

3. Jupiter. Mars

4. Jupiter. Saturn

3 B> (1% 5655 @Y BopgS” IrEeres &T)ow.
1 2o, HEHE

Z. Ziomaly, Xozwedd
3. E;DZ)‘ﬁaj@, e
4. aﬁﬁg@, Fod
Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 127 Question Id : 3922669287 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Assertion A: Women'’s voice has less frequency than men’s
voice

Reason R:  Length of vocal cords in women 1s shorter than
that of men.

Choose the correct answer

1. Both A and R is correct: R 1s a correct explanation
for A.

2 Both A and R is correct: R 1s not a correct explanation
for A.

Both A and R is incorrect.

('S

4. A 1s incorrect but R 1s correct.

PELS A &0 “%Sd %“Rﬁ’:ﬁ.’a&‘;’go SR8 K}ﬁﬁ %‘;‘6:‘@?&50
E‘Ea‘g e‘_ﬁﬁib_cﬁ

800 R: es38578 ;‘éﬁdeﬁo@a} P DRI ‘;569‘_501333@
PEDH BT SW)

0BS e JoHEok.

1. A 5008d50 R eo é@‘éé’l; R es98 A% ﬁ&@ac‘& DI

2. A0dn R e ¥335d: R o938 AKX $8&0s
D5Bea 57

3. A 50dw R en Dok $8GHID 5°H).

4. A DBFIH s 5t R 0G50,

Options :
1. %1
2. %2
3.%3
4.¥ 4

Question Number : 128 Question Id : 3922669288 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding groups and element family

1. T A a Chalcogen family
ii. IVA b. Halogen family
.  VIA ol Boran family
wv. VIA d. Carbon family
157, Sorel B6w0erdd $o20Q00) IBN Do Mfoukok.
i. III A 2. EpES HE00
11, IVA b. 55628 én080
iii.  VIA c. B0°8 60020
iv. VIA d Y Hewowo
1. 1-c. 1-b. ui-d. 1v-a
. 1-b. 1i-c. ui-a. iv-d
1 1-b. 11-d. 1ii-c. 1v-a
4. 1-c. 1-d. mi-a, 1v-b
Options :
1. %1
2. %2
3.%3
4.9 4
Sub-Section Number : 2
Sub-Section Id : 392266304
Question Shuffling Allowed : Yes

Question Number : 129 Question Id : 3922669289 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A student decided not to use plastic in his daily life. According
to David Kerathwhol the objective attained by the student is

1. Valuing
7.3 Characterisation
3. Organisation

4. Responding
25 Iog0 $F IBgEIS0S” FHE WSrmY) J2BoTd o
AYowomed. TIE (EEFS (95780 o5l FHODT o050

1. DO EEEO
[ ]
Bornso
&

Z

3. ;55;5@‘?.’:3&50
D @

4.

Q’a@‘éﬁjoaoiﬁﬁéo
Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 130 Question Id : 3922669290 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the mismatched pair from the following
1. National Curriculum Framework - 2005
2 State Curriculum Framework - 2011

Right to Education Act - 2019

)

4. National Teacher Education Curriculum Framework -2010
208 T0S° O BEDH KBOBOE.

1. 2 8HSH Aoy (PePs H(Eo - 2005

2 G*’@g.cm 3}@5 Werese Ko - 2011

3. 3)@5 5, w&o - 2019

4. =8ch &derich dovg (Hed So - 2010

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 131 Question Id : 3922669291 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In a textbook. drawings or pictures that help to indicate Group
work. Think — discuss. Do you know etc.. are

i Caricatures
2. Logos

3. Emojis

4. Flips

TEFIREOS” =), B DoE0G - BHE, W Bood’
S0EBS ndiren $ordosEld RS Heren
1.  s8ES6en
2. S°Ren
3. J3rRen
4. R0

Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 132 Question Id : 3922669292 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

According to Andhra Pradesh State Curriculum Framework -
APSCF 2011. number of academic standards in science for
class 7 are

R 3@5@931@5‘ B|goo - APSCF 2011 ($5~80 75 S5ASB3S
@é-%‘o{'}ﬁ i}%ﬁaﬁ@oé’s?} AT (Barere 0Oy

1. 5
2 6
3. 7
4 8

Options :



1. ¥ 1
2. %2
3.¥3
4, % 4

Question Number : 133 Question Id : 3922669293 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The method to be followed by the teacher to make the students
understand themselves about families who are engaged in
agriculture as well as cattle rearing 1s

 § Laboratory
Z. Field trip
3 Survey

4. Lecture

—

;55;53»&:9@5 e DPJHO DOBEo B ﬁm@ X3820027°e
12809 dorgehen vyHon BeonsEeedd &R0

£3:30:08 005008 DEH
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1. P&rhee
2. 3| D55
3. ﬁﬁcs
4 éﬁ.ﬁaﬁg{:

Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 134 Question Id : 3922669294 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A teacher behaves against superstitions in his personal life. So
for his students he is a

L. Organizer
. Inventor
3. Facilitator

4. Role model
¥ GEriing SgaNe 2e508° PRI
SGBTEOMT (BHOT. STT” ITFROH BB
/3 3}53:?5:&;;
y &aﬁﬁﬁﬁndz}
3. %asqugg
4. ;a:egcﬁag
Options :
1. %1
2. % )

3.%3
4.4

Question Number : 135 Question Id : 3922669295 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The percentage of difficult questions in a good question paper 1s

SED (57) DIWoS® &OEERS KBTS [HHo TS0

1. 10%
2 15%
3. 250%
4 25%

Options :

1. %1

2. %2

3.%3
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Question Number : 136 Question Id : 3922669296 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the teaching material that differs from the following

1 Herbarium
2. Aquarium
3 Vivarium
4. Terrarium
2
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4. BEBSHO
Options :
1.¥1
2.% 2
3. %3
4. % 4
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Number of Questions :

Number of Questions to be attempted :

Section Marks :
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Sub-Section Id :

Question Shuffling Allowed :

Question Number : 137 Question Id : 3922669297 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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All the directions are usually calculated from this point

1. East
2. West
&) North
4. South
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2. RT3 To]
3. =11 Tele
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Options :
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2. %2
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Question Number : 138 Question Id : 3922669298 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Venus i1s considered as ‘Earth’s twin® because these features
are very much similar to that of the Earth

1. Size and Shape
2. Shape and Climate

Climate and Size

4

4. Size and Colour
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Number : Yes
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During late 18™ century the tax levied by church comprising
one-tenth of agricultural produce in French society 1s called

1. Taille

2. Chateau
3. Tithe

4. Manor
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Options :
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Number : Yes
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The pictures of men with bow. arrow and oxen drawn by the
earliest people were found in these caves

1. Belum
2. Chintakunta
Vinukonda

4, Borra
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Number : Yes
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Timur invaded India and captured Delhi during this dynasty

1. Slave

= Khilji

3. Tughlaq
4. Lodi
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Question Number : 142 Question Id : 3922669302 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Mahatma Gandhi’s visit in 1917 marked the beginning of this
movement against the Indigo planters.

1. Champaran

2. Dandi

sd

Non - Cooperation

4, Quit India
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Question Number : 143 Question Id : 3922669303 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This person considered India as an uncivilized country that
needed to be civilized

1. Henry Thomas Colebrooke
2 William Jones
3 Nathaniel Halhed

4. Thomas Babington Macaulay
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This article of the Indian Constitution notes that no citizen of
India shall be discriminated against on the basis of religion.
race, caste, sex and place of birth

1. Article 14
2. Article 15
3. Article 16
4. Article 17
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Question Number : 145 Question Id : 3922669305 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The complete power to take decisions on external and internal
matters of the country 1s known as

1. Socialism

2. Fraternity

3. Republic

4. Sovereignty
a-: .
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Number : Yes
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Identify the mismatched pairs
A.  Direct Democracy - Switzerland
B. Indirect Democracy - India

€ Parliamentary System — USA

1. A only
2. B only
3. C only
4. Band C

SIPT BEDEDS TPID /001506,

A (PS5 (PEREL0 - ?\5%5;}05
B. 28 (DerdryEogo - erSEnEo
94 ﬁﬂg?noé.:é dgeso - USA
1. A ;‘3:{93?.5::
2.  Bsegd
3. Camlgd
4, B 5508d3» C
Options :
1. % 1
2.% 2
3.¢3
4. % 4

Question Number : 147 Question Id : 3922669307 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
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One of the following does not come under Civil law
Theft case
2. Divorce case

Rent related cases

(S ]

4, Dispute related to sale of a land
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Options :
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3.%3
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Question Number : 148 Question Id : 3922669308 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

IBRD and IDA together are commonly called as

1. The IMF
2. The Bretton Woods Twins
3. The Swiss Bank

4. The World Bank
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Question Number : 149 Question Id : 3922669309 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In ‘the chain of markets” wholesaler gets goods for his shop
from

1. Industries

2. Retail shop

()

Agriculture farms

4. Distribution point
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Question Number : 150 Question Id : 3922669310 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
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The port that was used by Dutch and English trading ships in
the early 17 century was

3 Visakhapatnam

2. Madras
3 Calicat
4. Surat
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The 8™ schedule of the Indian Constitution did not recognize
this language

L Bodo
2. Dogri
3. Meitel
4. Pali
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His teachings are also known as ‘Pushtimarga’ or ‘The Path of

Grace’

1. Sant Ravidas

2. Ramananda

3 Madhvacharya
4. Vallabhacharya
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Correct Marks : 0.5 Wrong Marks : 0



“History is a series of past experiences of the country.” stated
by

1. Dr. B.R. Ambedkar

2. Dr. Radha Krishnan
3. Mahatma Gandhu
4. Jawaharlal Nehru
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Question Number : 154 Question Id : 3922669314 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
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The study of the proper utilization of resources to meet the
needs of human life is

1. Geography

2. Economics
3. Political science
4. History
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Number : Yes
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A student give reasons for soil erosion. The objective achieved
by him is

1. Knowledge

2, Application

; & Understanding

4. Skall

28 IR0 o (EESSrIS seren BOFED. e
-3 ] i

FRODS eagéo
1. 2P0
=
2. DIDTRO
3- 93TV "ad %00
4. PO
Options :
1. % ]
2.9
3. %3
4. % 4

Question Number : 156 Question Id : 3922669316 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
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His contribution has led to the advancement of problem
solving as a teaching method

¥ John Dewey
2. Billart
3 William Heard Kilpatrick
4. J.A. Stevenson
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Question Number : 157 Question Id : 3922669317 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to National Education Policy — 1986 core curriculum,
the percentage for local needs is
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1 20%
2. 30%
3 70%
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Question Number : 158 Question Id : 3922669318 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Micro Teaching

A, Dwiet Allen named this process of Teaching

B. Helps to improve teaching skills

5 J.C. Cliff divided this into 3 Phases
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Mineral wealth. Forests and Mountains are

| Physical Resources

2. Biological Resources
3 Social Resources

4. Materialistic Resources
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This academic standard will be assessed under children
participation and reflections in formative assessment

1. Mapping skills
2. Reflection on contemporary issues

Conceptual understanding

(a2

4. Reading and Understanding
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